O - SEEF
A AR X AL B,

h.EER

W8] 6 TORAE K — 3 AR AR .
NA—IEE L PEAN0E, 5 EE
M3 40070 ; B kA 1006 , A& & 2 800
T, A B EMS2T L, e A EME,
e

LEAEEDZOIMG &G T A F)
A AR R EF A E 508 BALM, F
& WALMAT 23 2008 ;60 & Bk A
& Wk a2 5000, it AR R
317% 7L, REAT K,

VoNE BB CEBHEIRGE R
B2 OREBHRER, FLEITT XS
Bl, 4 W H & H TR, m R Ty &
£ 2 4y R FAM RAAH AR R R,

VB BB 5 Rz A ) 4T T
SR, HEHANIRRYEELE
KB, PN BRI B A ik Pl a8 K
ARG R SAR, AR AR
BREGRYEELER, CEEER
W8 WS oAb S e — AT

Vo) g AN T X AL T EAR
ARER RS b A TR LE £
AR, T8 B & L RAERRAA A AT
F, INABRTANES, CEES A
M3k, TR, TSl L RIERRS
B, LEEARREBRERE, Tl
Bl EEACT , E KRR AR, FRRT
RAIEWIZF %,

TR AR LR OLR AR AR
AR E R R W AT 5 P,

(1) ¥ 28] &) TEAE A & oG B IR T
BT R BT

(2) TEAE W & B REL A
E27 A4

(3) A R E p BT & P ey
M BRI T AR AL A 49

(HF e & el LRIEN R
£EHR? At

(5) W3 fe T @ kALY A4t
292

2005 S
BRI hERE B

Ll s ik
BERR

— BILER R
1.€C 2A 3B 4A 5D 6C
7D 8A 9B 10D 11B 12B

.68 M= BTI(&£1t) 2006.2

13.C 14.C 15A 16B 17.D 18.A
19D 20.C

Z B IIEERR

1.C.D 2AB.C.D 3B.D 4B,
c.D 5B.C.D 6ABD 7B.D
8.C.D 9.AB.C.D 10A.B.C 11.
AB 12B.C 13A.D 14A.B.C.
D 15B.C.D

= FI TR

1.X 2. v 3.X 4X 5X 6.X
7.7 8.V 9.v 10.v

M.t E SRR

1L.(HEEQ)RALFEER, b
4 (2)FAANEAITE, L4(3)RIAXR
KE R,

()4 P Eg L3t 5%

W 5(1) :’f%:%ﬁﬁf]’fi;ﬁ:é?ﬁﬁ‘
HEN00, #4230, B F110;
55 H AT T 4100,

:]J’_%‘(Z) A :éﬁﬁ”ﬁ‘%ﬁlOS.& L
B AL SN0, R ALA RN
LA RAALIA)15.3,

LEQ). AERHNETH»F,ARE
BREF EERREFHLHE2T A
B A20% A,

() FERARFE—F RN EFLE
F1 £ =(600-510)+600=15%,

2)DF £ B F20045-4 A 445 7
A5 R AR=300% (1-15%)=255( % 7T.) .

@ F £ 7 200455 A 15 68 7 44
A R A=500% (1-15%)=425( F L),

@ F £ 7 200456 A 15 68 B 44
£ M A =400+880—420—(255+425) =180
(F),

3EE—.

(1)3%4 A 118 £1=(60—5) =200 000 X
4 000=1.1(F 70); oA A 318 1= (620~
20)+20+12=25(7 7T) ;200454 A 4 &
HREZR ZIHEH=1.1+25=3.6(F
e

) H Rk A1, EER A5,
B RitdrE36,

VS

(1)20045-4 A 4 53+ 32 B 2 3 7= 47
HH=(620—20)+20+12=2.5(F 1),

(2)4’:‘%%%:1’%:%&%@2.5;@?:
Zit4rmE2.5,

4.(1)D20034F %M B 04 TR A2 E =
126+360=35%; (220044F% 7 A #) 7%,
#2 £ =315+360=87.5%,

(2)D20034F % A B # KA=400x
35%=140( 7% 7. ) ;22003 4% 5 B 4 %
JA=360x35%=126(7 7.) ; @200441% 7
B # B A=400%87.5%—140=210( % 7T );
@20044FZ T B 49 % B =360x87.5% —
126=189( % L),

(3) D . 4747 A 51705 5 O K
170, OF . FORIEH140; 5. 28 14
BN140, O 28 L5 A126; 5 57
FmA126,

A.GEE

L) ARAT B 20570, B 235 7% 180,
R 505 By FKFA——A320,
B280 . ——C200,

(2) 4 . #1318 £ B2 100; 5« B AT R
Hl——A40 ——B35,——C25,

(3)20044F12 A 31 B D& A& & Fad
7= A A AR =(100+58.5) =1 000X
10%=58.5(% 7).,

(4) #4747 55 2200, R A 50, B2
A —— R I AL (G AR )8.5;
AR M A——A40 —B35,——C25,
——D100, FAAAR585,

(5)20034F12 A 31 8 5 &Ik R #9#
JZ ] A=(320+40) =1 000=36% ;B=
(280+35)+1 000=31.5%; C=(200+25)+
1 000=22.5%;D=10%( 3 :D=100+1 000=
10%)

2.(1) D 44T A 358550 £
L S-BN50, B AL — B S IGEHL
(A5 AHBLIR)S.5, #: £ L4 R A37.5;
R BB 375,

O & = ARA120, 5% 10, %
2 R4, R4 2, BAF A30;
B AT 176,

O FZ A Mod; B WK Fo4,

@, 28 L 5 HA &M 55,45

B AL —— R SR T Y RS B

Mo 5 B 2K0.5,

(2)

FIER(FAR)
B B4 LNE] 2004 F FETA
@A 7R | RF R

— 2T LERA 1 600

B 28 LS mA 11225
X% Sy 20.5

— 27l EHH 457

oy Eotl A G- 8 6

B w LR A 64
TEERA 99
W49 A 52

= A 248

A BFOKE 22
ERZRON 50

B g ksh I 20

W FE B 300

B PTAEHL 99

B AAE 201

(3) . PTAFHLI9; 4% . L AL ——
BT AFHI9,



